	Base	Line Item	Detail		A.E. S	tone,Inc.	Richard E. Pierson Construction Co Inc		Joseph Defino Trucking Co, Inc		Crisdel Group, Inc.		South State, Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTI ON	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	1D10MOB	1	L.S.	Mobilization	\$100,000.00	\$100,000.00	\$140,000.00	\$140,000.00	\$529,400.00	\$529,400.00	\$266,238.40	\$266,238.40	\$159,000.00	\$159,000.00
2	1HFP075	1	L.S.	Fuel Price Adjustment (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$75,000. Enter a Unit Price of \$75,000 as your bid for this item.)	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
3	2B02REX	17,000.00	C.Y.	Roadway Excavation, Earth	\$21.00	\$357,000.00	\$26.50	\$450,500.00	\$15.00	\$255,000.00	\$35.65	\$606,050.00	\$33.00	\$561,000.00
4	3A04ABC	88,000.00	S.Y.	Aggregate Base Course, 4" Thick	\$3.50	\$308,000.00	\$7.00	\$616,000.00	\$3.50	\$308,000.00	\$5.69	\$500,720.00	\$6.00	\$528,000.00
5	3B01PJA	72,000.00	L.F.	Polymerized Joint Adhesive	\$0.40	\$28,800.00	\$1.00	\$72,000.00	\$0.35	\$25,200.00	\$0.57	\$41,040.00	\$0.30	\$21,600.00

	Base	Line Item	Detail		A.E. S	tone,Inc.	Richard E. Pierson Construction Co Inc		Joseph Defino Trucking Co, Inc		Crisdel Group, Inc.		South State, Inc.	
Item No.	Unit Code	QTY	UNIT	DESCRIPTI ON	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
6	3B120APA	1	L.S.	Asphalt Price Adjustment (This is a NO- BID, Lump Sum item for this contract. The Lump Sum price is \$120,000. Enter a Unit Price of \$120,000 as your bid for this item.)	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00	\$120,000.00
7	3B29SUP	16,000.00	Ton	Superpave Hot Mix Asphalt 19H 76, Surface Course	\$82.00	\$1,312,000.00	\$78.00	\$1,248,000.00	\$88.00	\$1,408,000.00	\$84.02	\$1,344,320.00	\$90.00	\$1,440,000.00
8	3F01MRS	72,000.00	L.F.	Milled Rumble Strip	\$0.20	\$14,400.00	\$0.15	\$10,800.00	\$0.20	\$14,400.00	\$0.41	\$29,520.00	\$0.50	\$36,000.00
9	5P21LLS	80,000.00	L.F.	Traffic Stripes, Long - Life, thermoplastic	\$0.50	\$40,000.00	\$0.45	\$36,000.00	\$0.90	\$72,000.00	\$0.54	\$43,200.00	\$0.54	\$43,200.00
10	5Q01FOB	1	L.S.	Furnish Field Office, Type B	\$9,000.00	\$9,000.00	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00	\$1.00	\$1.00	\$42,000.00	\$42,000.00
11	5Q02MFB	6	Month	Maintain Field Office, Type B	\$500.00	\$3,000.00	\$1,500.00	\$9,000.00	\$2,000.00	\$12,000.00	\$1,610.00	\$9,660.00	\$2,000.00	\$12,000.00

	Base	Line Item	Detail		A.E. St	one,Inc.		son Construction	Joseph Defino	seph Defino Trucking Co, Inc		Group, Inc.	South S	tate, Inc.
Item No.	Unit Code	QTY	UNIT	DESCRIPTI ON	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
12	8B15MPT	200	M.H.	Traffic Protection Patrol	\$100.00	\$20,000.00	\$0.01	\$2.00	\$95.00	\$19,000.00	\$0.01	\$2.00	\$85.00	\$17,000.00
13	8B16MPT	200	M.H.	Uniformed Flagman	\$0.01	\$2.00	\$73.00	\$14,600.00	\$85.00	\$17,000.00	\$0.01	\$2.00	\$0.01	\$2.00
14	8B24MPT	1	L.S.	Furnishing Traffic Protection Devices	\$144,000.00	\$144,000.00	\$159,987.00	\$159,987.00	\$150,000.00	\$150,000.00	\$13,659.23	\$13,659.23	\$143,000.00	\$143,000.00
				Base Total		\$2,531,202.00		\$2,976,889.00		\$3,045,000.00		\$3,049,412.63		\$3,197,802.00

Arawak Pa	aving Co. Inc				
RATE	AMOUNT				
\$450,000.00	\$450,000.00				
\$75,000.00	\$75,000.00				
\$20.00	\$340,000.00				
\$5.25	\$462,000.00				
\$0.50	\$36,000.00				

Arawak Pa	aving Co. Inc					
RATE	AMOUNT					
\$120,000.00	\$120,000.00					
\$81.00	\$1,296,000.00					
\$0.30	\$21,600.00					
\$1.00	\$80,000.00					
\$40,000.00	\$40,000.00					
\$2,500.00	\$15,000.00					

Arawak Paving Co. Inc							
RATE	AMOUNT						
\$1.00	\$200.00						
\$1.00	\$200.00						
\$450,000.00	\$450,000.00						
	\$3,386,000.00						